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QUESTION 1

What wavelength window does a C-Band amplifier use? 

A. 1480-1510nm 

B. 1510-1540nm 

C. 1530-1560nm 

D. 1570-1600nm 

Correct Answer: C 

 

QUESTION 2

Which three are examples of a non-linear effect? (Choose Three) 

A. SelF. phase modulation 

B. Four-wave mixing 

C. Chromatic dispersion 

D. stimulated Brillioun Scattering 

E. Attenuation 

Correct Answer: ABD 

 

QUESTION 3

In MPLS what is an LSP? 

A. Label Selection Pair 

B. Label Switched Path 

C. Lightweight Signaling Protocol 

D. Large Sampling Path 

Correct Answer: B 

 

QUESTION 4

Why is an STM-1 2F MS-SPRing not feasible? 

A. An equal amount of working and protect bandwidth is needed per span. 
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B. Standards have not yet been defined for STM-1 MS-SPRings. 

C. There is not enough bandwidth in an STM-1 ring to justify MS-SPRing configuration. 

D. DCC bandwidth is not large enough to handle K1/K2 processing. 

E. Switch times would exceed 50ms on an STM-1 MS-SPRing. 

Correct Answer: A 

 

QUESTION 5

With a router connected to node E, and a laptop connected to node C, in what node would you put a static route to
access this network from an external IP network? 

A. None. A static route is only required when OSPF is disabled on the DCC and each node is a on a different subnet. 

B. In Node E 

C. In Node B 

D. In Nodes B and D 

Correct Answer: B 
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